EARAZROREIERT — 2 N—XBISY —F 201657898 (+) 5MEIEEMEIHE

m# vy XIN— 7 3HB2=# ¥ 5R3® B R
[xE£] 1 %:240,000 2#%:48,000 ™ ~ 3#%&:24,000M  43#%&:17,000 W 5% :7,000H
B BB BEBR M MHE BF (F8) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
N - HMRE :26. - . — IR (B%RE)
1l8ls INAZXS 335 4 3 e 1(2_6)4 2-1 38.4 1 :234) il
LT RIYAVYL—> BIIILARTY—> BILHREKARHIDRET IS
. o3 | SBEE 1:26.7 4-2 385 — | 2 | 431 |#ALER (KiR)
2 4 JATAT+—2R . 56.0 (1 3/4) (-11) | BAHER
XL ThANAN BehNSTU=T4 ARETa—T7—L
S s R LA EA# :27. — . — BRI (B%RE)
3 NEDI LSS 4 3 7k 1 (237)2 6-3 38.3 3 ;1:33) R
R:Fh¥<=7128 B:RLIT2 al=sbae]
. .= o Fa i : - — BRAS (KR)
AARECEEL I 2, 4 3 o 1.(268).2 5-3 39.7 4 51:157) %t&}ii y
LAY/ RI47 B:/0—-Xbya-— TADAS

S ANILA 3 | HER 1:28.8 2-6 0.7 - 6 416 | HEE GKR)
EE 2 | VININXAT — 54.0 (a) o |ENEF

LoxvanaU— B:yzNan-—vy A5
6l5l5 ﬁ'rTj_:)E;':/_ . # 3 ﬁ?ﬁof@ 1:(219).0 87 37| — | 8 (4:)16) ﬁﬁ% (B4f)
LA vauR—5— BvARU—v— 1145
ZH 6 l:"‘/’7_*f‘/9“— i “ 3 fﬁ;ﬁ?ﬁ 1:(259>.8 -3 419 — | 6 ;4_049) :ﬁigi (z&)
LY UTEIR BYITYE— iijz:E0eT
8l7|7|*% / 71:11:5 ‘ % 3 | Wlg— 1:(360).8 78 |[41.3] — | 5 (:53) g—&%g (M)
:77v 0484 F B:RXEX ELore]
® 1 —F—@EBIBfL
1 S=7r=
23— —
3a—+— |6,(2,8),4,1,3,7,5
42—7F— |8,4,(1,3,6),2,5,7
o LRE
BB 8 160H 794K 4-8 100H 5= 4-8 150H BER 3-4-8 250H
7 B 8 100M9 3-8 160 | | B & 8-4 260f | | 3EH 8-4-3 540M
4 110M 3-4 210M
3 160H

ABICOVWTRDTEEERROODE. TR LIV,



